Identifying and Balancing Chemical Equations

Law of Conservation of Mass: in any process, mass cannot be created nor destroyed

in order to obey the Law of Conservation of Mass, we must "balance” equations, or make the numbers of all atoms the same on both sides of the arrow.
We cannot ever change subscripts to do this, so we balance by using coefficients in front of the chemical formulas.

0,

. HgO = __ Hg +

D 1
Example:
—_Hg___
Inventory
_ 0

Identify each of the equations below as synthesis (5), decomposition (D), single replacement (SR), or double replacement (DR). Balance each
of them using the inventory method. An example inventory has been set up for you in number 2.

2. __NaCl+__Ag(NO;) & __Na(NOy) + __AgCl 6. __NaCl+__Ag(NO;) & __Na(NOy) + __ AgCl
—Na___
—C___
—Ag___
— NG;
3. Mg+__ HCL = ___MgCL + __H 7. __H+__ 0, __HO

In+___Hy(SO4) =& __In(SO)+ __H 8. __Clb+__ NaBr & __NaCl + _Bn

5. __ Na(OH)+__HCl =& ___ NaCl + _ H(OH) 9 __In+_Cu(SO4) = __ZIn(SO4) + __Cu
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1.

12.

13.

14.

15.

__K(ClOy) > __KCL+ __0

.|l..I~O+|I|_u.m > |I|_n.m~0w + IlIN

__Ca(OH) + ___H(NO;) & __Ca(NOs), + __H(OH)

I ZNNO + ﬁON 2> _ ZmNOOw

IN+

N, & ___ NH;

___HgO+__CLh = ___Hgll+ __ 0
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17.
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19.

20.

___Na+__ Br, & ___ NaBr

‘1I>_.Now > Al + O~

___CuCl+__H,S = ___CuS + __HC

—_ WNAZvaN + ZmNAﬁva > J mmAﬁOuv + ZNAZOuv

— (NH)Q(NO3) > __ N0 + __H0

21, SO+ ___0; & __ 50




